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As the weather begins to get nicer and more and more residents are walking or
jogging in town, we are taking this opportunity to remind you that it is illegal to walk
or jog in the street when a sidewalk is available on a road. The state law requires that
a pedestrian may not walk along or on an adjacent roadway where a sidewalk is
provided. The Cheverly Police have been receiving numerous complaints from residents
fearing that they are going to hit a pedestrian as a result of those individuals not
walking on the sidewalk. We want all our pedestrians and motorists to be safe. So,
please use the sidewalks. Not honoring the above noted law will result in a fine being
issued.
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1. Semantic Key Sentence & Structure: HEFEH Gl
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jogging in town, we are taking this opportunity to remind you that it is illegal to walk
or jog in the street when a sidewalk is available on a road.
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2. Grammatical Key Sentence: & HA2| 2o|0|4& =0 Sl o|O0|4 F0{2t2| Ef(Voice)

(1) The Cheverly Police have been receiving numerous complaints from residents fearing
that they are going to hit a pedestrian as a result of those individuals not walking on
the sidewalk.

=> MX|A} ‘of' o] EHO{Z 'not walking on the sidewalk'e| SBAIH7} @10 JCH, 0] &
AR O|0|AFO 7t thatE 2| F0O{Ql they(residents)?t CHE those individualsZ7t @11 Q!
= dEQl EYYLIC

—

(2) Not honoring the above noted law will result in a fine being issued.
result in (~2t= ZAIE <ChHol 2™ = EE”AHLOI being issued7t @1 QUSM, O] [}

o|ojA 0|2l a fine(H )1t issue(LlsiCt, HatSICHO| A7t £=50|2 2 being issued
o YA =30 2= A0| F=sHoF gLct

3. Transformational Points

=> Of¥
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Doing any career takes time and effort, but doing music requires you to work harder.
It's not a 9 to 5 existence. The first priority is to be a good teacher and to let your
students know that you are actually interested in them, and care about them. Once you
build this connection, it's not as important where you teach or how much you charge.
Realize your students are unique individuals, and work on the music they want to play.
Most people don't want to be a master, they just want to play the guitar. The
relationship with a teacher is something a student won't get with a computer. It's
important for students to know that they have a teacher that knows what they are
doing and has a passion for the guitar.
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1. Semantic Key Sentence & Structure: & Gl
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Doing any career takes time and effort, but doing music requires you to work harder.
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It's not a 9 to 5 existence. The first priority is to be a good teacher and to let your
students know that you are actually interested in them, and care about them.
Ol U2 SIEX| AT =S WRSIKIE SUAS AW LUS O BN Lo} B
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2. Grammatical Key Sentence: H &1 X
(1) The first priority is to be a good teacher and to let your students know that you

are actually interested in them, and care about them.
=>"is' F|o] FZ HOX2[0] to FZAF Ligts| &S O|R& FXZYLICH

(2) Once you build this connection, it's not as important where you teach or how much
you charge.
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(3) It's important for students to know that they have a teacher that knows what they

are doing and has a passion for the guitar.
=> a teacherg MAYMZ St= FHIA AL ‘that'e] SAH X0 knowse} has7t LIEHS]

HES 0|R= FZYUCH (@A) *

3. Transformational Points

=> Of¥
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Your mobile device probably holds sensitive information like addresses and phone
numbers, passwords, account numbers, email, voicemail, and text message logs. When
getting rid of your old device, it's important to take steps to help ensure this
information doesn't fall into the wrong hands. First, try to use the factory reset. Many
devices allow you to “wipe” your device and clear nearly all the information in its
memory. Sometimes, this is called a "hard reset” or "factory reset.” Second, remove or
erase SIM and SD cards. Even when you “wipe” your device, your SIM card or SD cards
may retain information about you. Remove them from your device or delete the data
that's stored on them. If you're keeping your phone number, ask your mobile provider

about transferring your SIM card to your new device.
* SIM card: SO|F3E £9| 7401 M FtE=
@ ZHE 717] H7] Al JiQl SEE AAchs EES &Y T2

1. Semantic Key Sentence & Structure: EME Gl ZX|E SHOZE sl 22 ZHHETL
L CH

When getting rid of your old device, it's important to take steps to help ensure this
information doesn't fall into the wrong hands.

oo £AH FXE HE M= o2 =7 L& AFE S &0 SO07HX| REEE 3H7|
o ZX|E2 Fots A0l SQEYLICL

2. Grammatical Key Sentence: Z At Z0|A 2|O|E TS| 17| ot FHALS| ALE
When getting rid of your old device, it's important to take steps to help ensure this
information doesn't fall into the wrong hands.

=> When you get rid of your old device,

EATR0IME YUHOR MAALS MASIX[, 0|02 HEES Q8 ©7|7|E BT
Of &2 4% LurF0{2l yoult get rid of (M[AHSIC}, GlIOHCH| &A 7l SS0|22 get
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3. Transformational Points

FAF AHE S IRF YA 0S| E2 0|8% O3FE

(1) Your mobile device probably holds (sensitive / sensible) information like addresses
and phone numbers, passwords, account numbers, email, voicemail, and text message

logs. => 7O W2 2= GAISE S8l FF 7ts
(2) Even when you “wipe” your device, your SIM card or SD cards may (retain /

eliminate) information about you. => evenO|L} “  “(BtO)7} DtEE TO| RS E|
o x 7|_i
e o
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Dr. Ted Estess, founding dean of the University of Houston Honors College, has long
emphasized the importance of stories and storytelling, including using a Samuel Beckett
guotation: “To have lived is not enough. We have to talk about it.” Come hear how Dr.
Estess talks about that living. He will read from his new book — The Cream Pitcher :
Mississippi Stories. Some of book is devoted to Estess family stories, as well as stories
passed down from family and friends. According to a review in The Tylertown Times,
these stories “"passed down as an Estess family tale would be suited to any other
family,” especially in the Mississippi area where the Estess family lived. Of course, the
book and its stories are not limited to Mississippi and its inhabitants — you might see
your own story or family, if you imagine a few details differently.
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1. Semantic Key Sentence & Structure: 211 3l
T of=7 STYYLIC

Come hear how Dr. Estess talks about that living. He will read from his new book -
The Cream Pitcher : Mississippi Stories.

Dr. Estess7} 112{3t 40| CHa| OfEH O[0f7| H=X| Z 9t SO{EA|Q. 1& 19| A7
2l “The Cream Pitcher : Mississippi Stories" & O|OI7|&2 HOEZ AL Lt

2. Grammatical Key Sentence:

1) RE|Y HIAA| 55202 3l8}17| 2|2 =52 SATLE

@ be devoted to ~ : ~2 CtF1 ULl ~0f &0l E|CH

Some of book is devoted to Estess family stories, as well as stories passed down from
family and friends.

@ be suited to ~ : ~0ff Mgtsict, ~1F O 22|Ct

According to a review in The Tylertown Times, these stories “passed down as an Estess
family tale would be suited to any other family,” especially in the Mississippi area where
the Estess family lived.

® be limited to ~ : ~0f =2tE|Ct ~7HX| N oHe|Ct
Of course, the book and its stories are not limited to Mississippi and its inhabitants —

you might see your own story or family, if you imagine a few details differently.
(2) storiesE 0O|= AtHSAFF “passed down"
=> these stories (which have been) “passed down as an Estess family tale ™3| L{2{2=

0] ot7|

3. Transformational Points : N / S
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To many people, television is just flickering wallpaper, moving pictures in the corner of
the room. As a medium, television is extremely easy to watch without, apparently,
requiring a great deal of effort from the viewer. However, while it is easy to watch
television, it is hard to write analytically about it. If you are studying communications,
media studies, social studies, humanities or English, you will probably need either to
write about a television programme, or to prepare and present a project about
television at some point in the course of your studies. Most students find this very
difficult. Precisely because television is so easy to watch, it seems to resist our efforts to

analyze it critically.
*flicker Z480O|CE * * analytically 2MXMoZ

@ HYHE 242 0 F
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1. Semantic Key Sentence & Structure: %2t => HtZ Gl

s M

(1) As a medium, television is extremely easy to watch
great deal of effort from the viewer.

(K =MLl TVOf CHer LEFRISS| X2Hof| ofet =¥ =)
HAEN TVE AIEAIES B2 =32 T2 51X b= i AI™SH7| £ CHAO|CH
(2) However, while it is easy to watch television, it is hard to write analytically about it.
(2erelol Xztof thet HH20[X} F=X|Z)

SHX|QH TVE 7= 2|8 TVO| Cfs) Mmooz M| ofYct

(3) Precisely because television is so easy to watch, it seems to resist our efforts to
analyze it critically. (FHZ0| Cist T =)

G| o Tve AEO| HF 29M TVE 431X ot ?2|9 =83 Hlste A
7|-|:|.
= .

2. Grammatical Key Sentence:

(1) EtF=: either A or B (A 52 B)O|A AX2|2t BAfE2[= ZHZE HE

If you are studying communications, media studies, social studies, humanities or English,
you will probably need either to write about a television programme, or to prepare and
present a project about television at some point in the course of your studies.

(2) =¥ 20f X2[ofMe] HEA &&

Most students find this very difficult. =>this(2F =& L{&)7} {EAH /AT SA 02l this
of cit M0lo2 SHZ Hol2 HEAZH By
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3. Transformational Points :

(1) CHE FOT 2F0| S0{Z X2 717 HAET A27? (kk k)

However, while it is easy to watch television, it is hard to write analytically about it.

To many people, television is just flickering wallpaper, moving pictures in the corner of
the room. (@) As a medium, television is extremely easy to watch without, apparently,
requiring a great deal of effort from the viewer. (@) If you are studying
communications, media studies, social studies, humanities or English, you will probably
need either to write about a television programme, or to prepare and present a project
about television at some point in the course of your studies. () Most students find
this very difficult. (@) Precisely because television is so easy to watch, it seems to resist
our efforts to analyze it critically. (®)

*flicker Z480O|CE * * analytically 2MXMoZ

2) o= 22 70 S0z B2 7ty HES AS DEAR. (k%)

To many people, television is just flickering wallpaper, moving pictures in the corner of
the room. As a medium, television is extremely easy to watch without, apparently,
requiring a great deal of effort from the viewer. However, while it is easy to watch
television, it is hard to write analytically about it. If you are studying communications,
media studies, social studies, humanities or English, you will probably need either to
write about a television programme, or to prepare and present a project about
television at some point in the course of your studies. Most students find this very
difficult. Precisely because television is so easy to watch, it seems to our
efforts to analyze it critically.

*flicker Z480O|Ct * * analytically 2MMoZ

@ facilitate
@ activate

@ resist

@ compose
® accept
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Slip and trip accidents are a major problem for large retail stores for both customers
and employees. The provision of non-slip flooring, a good standard of lighting, and
minimizing the need to block aisles during the restocking of merchandise are typical
measures that many stores use to reduce such accidents. Other measures include the
wearing of suitable footwear by employees, adequate handrails on stairways, the
highlighting of any floor level changes, and procedures to ensure a quick and effective
response to any reports of floor damage or spillages. Good housekeeping procedures
are essential. The design of the store layout and any associated warehouse can also
ensure a reduction in all types of accidents. Many of these measures are valid for a
range of workplaces.

*handrail 7t

1. Semantic Key Sentence & Structure: O|7+X{|7| => XA Hioto| Lt

Slip and trip accidents are a major problem for large retail stores for both customers
and employees. O|N X2 3ACIH HOX|= A2 g 4FTHEOM D40 X DE0
A 2 M7t 2 = ULk (Ol5H 7))

2. Grammatical Key Sentence: A, B, C, and(or) Do| BEHIXZ O|R0 X FO{e FA

(1) The provision of non-slip flooring(A), a good standard of lighting(B) and minimizing

the need to block aisles during the restocking of merchandise(C) are typical measures

that many stores use to reduce such accidents.
(2) Other measures include the wearing of suitable footwear by employees(A) adequate

handrails on stairways(B), the highlighting of any floor level changes(C), and procedures

to ensure a quick and effective response to any reports of floor damage or spillages(D).

3. Transformational Points :

1) Ltg 20AM S8 HX| B= 282 LEAR. ok %)

Slip and trip accidents are a major problem for large retail stores for both customers
and employees. @MThe provision of non-slip flooring, a good standard of lighting, and
minimizing the need to block aisles during the restocking of merchandise are typical
measures that many stores use to reduce such accidents. @Other measures include the
wearing of suitable footwear by employees, adequate handrails on stairways, the
highlighting of any floor level changes, and procedures to ensure a quick and effective
response to any reports of floor damage or spillages. ®Good housekeeping procedures
are essential. @ Recently Internet-based recruiting agencies provide a lot of information
for would-be professional housekeepers. ®The design of the store layout and any
associated warehouse can also ensure a reduction in all types of accidents.

) XZe| F&L HO[=2 & [f E7| 3B(F=te| =H)9| Script2k: A& 7tsd
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When a person watches a television movie or listens to a compact disc, it is reasonably
clear that the prime purpose of the communication is entertainment. Television news
shows might be watched to gain information, but the television stations are well aware
of the importance of presenting news in an entertaining fashion. Are television news
and newspaper reporting really just other forms of entertainment? You might argue that
listening to the radio in the morning to check traffic conditions is information gathering.
Calling a travel agent to make an airline reservation clearly is an example of using the
telephone as an information tool. But talking by telephone for hours with a distant
friend is an entertaining way to keep in contact and exchange information of what is
happening.

@ multi-purpose nature of communication

1. Semantic Key Sentence & Structure:

(1) When a person watches a television movie or listens to a compact disc, it is
reasonably clear that the prime purpose of the communication is entertainment. (AtZHO|
o™ FotE EAL CDE =2 O 2o ARUAOIEL FE FHO| =g &Y
Stoh => YEPE AR

(2) Are television news and newspaper reporting really just other forms of
entertainment? EgH|™ FALL MEEE7F XY HERTE CHE AT

=> Ht2o| T QY(EH ZHDO0| Y= A2 OotLL}, = Cr=XHH el 50| {UCt)

Q) RSEEE flot 2L EF, HAHE 0ffs e oflARtel S2tof OAE &8 ZE
&S 2X9| 04l

4) Tetel AZE el Sl OAE St 2 EUR0| SAY 7tses Y

—

2. Grammatical Key Sentence:

SHAZE FO{Q BE=> <SAlvsESAL>, £2| LX| Fo[(SYAZL F0{2l B2 Th=)

(1) You might argue that listening to the radio in the morning to check traffic
conditions is information gathering.

(2) Calling a travel agent to make an airline reservation clearly is an example of using
the telephone as an information tool.

(3) But talking by telephone for hours with a distant friend is an entertaining way to
keep in contact and exchange information of what is happening.

3. Transformational Points : N / S
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Small children have smaller stomachs. They need concentrated foods, high in calories
but low in volume. This is one of the main causes of infant malnutrition. In many
countries, children are poorly fed but adults are not. It would be a mistake to believe
that adults eat everything and leave nothing for the children. Parents (and especially
mothers) watch out for their children. They would happily give up their own food in
order to feed their children. The problem is that many times the only food available to
families consists of vegetables and roots high in fibre but low in calories. Adults can
eat all they need, as their stomachs are big enough. And in enough quantity, any food
will fatten a person. Small children, as hard as they try, cannot eat the amount of
vegetables needed because they don't have enough room in their stomach.

* malnutrition YYA=T

® reasons that small children may not get enough calories

1. Semantic Key Sentence & Structure:

(1) Small children have smaller stomachs. They need concentrated foods, high in calories
but low in volume. This is one of the main causes of infant malnutrition. 2052 |%&t
Of At 152 TS XY YL N2 =XE MG URE Bk 0|HO| £0F FYH
xo| =g YOS F giLiolct. => FH &

(2) It would be a mistake to believe that adults eat everything and leave nothing for
the children. O{250| Tt {1 O[OS0 OLF ZE W7|X QeCtn B HS Aol
ch. => 128 54

(3) The problem is that many times the only food available to families consists of
vegetables and roots high in fibre but low in calories. 2X|l= &2 A% 7I5=0| H2
Az 7ot 40| dRE2 A 2 W2 xjaeb K22k FHOICh => 2X|9

AN
P |
=

rhe >

(4) Small children, as hard as they try, cannot eat the amount of vegetables needed
because they don't have enough room in their stomach. 20t2| AL &0 2%t 57t

O] glojAf otF 2| =33l Hast ¥of M2E HFEY + QItk= Aok => FH| TS

2. Grammatical Key Sentence: HALE AlSt= T2 At

(1) They need concentrated foods, high in calories but low in volume.

BAT EHATICRY BAE => BHE 24

(2) Small children, as hard as they try, cannot eat the amount of vegetables needed
because they don't have enough room in their stomach.

Kol @ If ‘E@BICE, RFSICH| BAE => QFEE Mao ¥
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3. Transformational Points

1) o= 22 22 & B2 & =Yy 2o AY0| HESA| @2 A2? (kk k%)
Small children have smaller stomachs. They need @plant foods, high in calories but low
in volume. This is one of the main causes of infant malnutrition. In many countries,
children are @poorly fed but adults are not. It would be a mistake to believe that
adults eat everything and leave nothing for the children. Parents (and especially
mothers) watch out for their children. They would ®happily give up their own food in
order to feed their children. The problem is that many times the only food available to
families consists of vegetables and roots high in fibre but low in calories. Adults can
eat all they need, as their stomachs are big enough. And in enough quantity, any food
will @fatten a person. Small children, as hard as they try, cannot eat the amount of
vegetables needed because they don't have ®enough room in their stomach.

* malnutrition GAIZx

) &= FoT 0| 0l0E =2 =AM2 HES A2? (kk*k)

Small children have smaller stomachs. They need concentrated foods, high in calories
but low in volume. This is one of the main causes of infant malnutrition.

(A) They would happily give up their own food in order to feed their children. The
problem is that many times the only food available to families consists of vegetables
and roots high in fibre but low in calories.

(B) Adults can eat all they need, as their stomachs are big enough. And in enough
quantity, any food will fatten a person. Small children, as hard as they try, cannot eat
the amount of vegetables needed because they don’t have enough room in their
stomach.

(O) In many countries, children are poorly fed but adults are not. It would be a mistake
to believe that adults eat everything and leave nothing for the children. Parents (and
especially mothers) watch out for their children.

* malnutrition @AIZx

©MA-O-B @6B-AH-O 6-0Q-A
@Q-A~-B O-6B-A

(3) 2ot2

Small children sometimes suffer from malnutrition because they have so tiny stomachs
that they cannot eat good amount of plant-based meals high in fibre but low in calorie
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5 BF 29 FH= 7ry HMES A27?

The universal appeal of sports, together with its inherent link to health and well-being,
makes it the ideal transmitter of messages about the environment. We are already
accustomed to ‘hearing’ messages about national pride and fair play through sport.
Sport, and in particular the sporting event industry, now represents the front line for
sustainable development campaigns. Environmental sustainability is not only making
sporting events more marketable, but it is attracting the kind of corporate sponsors
who are keen to use public approval to enhance corporate reputation. The
environmental 'virus’' is made more infectious when sporting heroes are used to transmit
the ‘disease’ - a notable example being Planet Ark, an Australian not-for-profit
environmental group, set up by retired Wimbledon tennis champion Pat Cash.

@ sports as a means for sustainable development

1. Semantic Key Sentence & Structure:

(1) The universal appeal of sports, together with its inherent link to health and
well-being, makes it the ideal transmitter of messages about the environment. AZ X7}
W22 7HX2a Qs A2t d=nte] AHatdnt el 2ZX7t 7h8 EEANQ 9482
AEXE 2F0| Ciet O|dX el HAX] MEttoz S0 FLL => FH s

(2) Sport, and in particular the sporting event industry, now represents the front line for
sustainable development campaigns. AZX T2|10 E&| ALX AL MAS =55 X|H
Ztset JhE Hmelel AT E SESCL => FH M=

(3) The environmental ‘virus' is made more infectious when sporting heroes are used to
transmit the 'disease’ - a notable example being Planet Ark, an Australian not-for-profit
environmental group, set up by retired Wimbledon tennis champion Pat Cash. => A
9| 50| 0| "#"s HIsty| 2fsfl 0|8 W Y+= O &F "HO|HA"= HOF HHE
ol st - == Aot fAlz= 2EoF EH HLA MRl Pat Cashof 2fsf 4
HEl 239 H|g2| SEEAQ Planet ArkE & & ULt (HIRLE HAIE Sl FHE S

)

2. Grammatical Key Sentence:

(1) 0 S0 £A0{T7t ZH 20 YL Mol $9| Y|

The universal appeal(F0{) of sports, together with its inherent link to health and
well-being, makes(SA}) it the ideal transmitter of messages about the environment.

(2) - be used to SAIH: ~517] I8 AFE Lt

- (510|&)2 ™ AH(conjunction)Z} OFL|LC}.
The environmental ‘virus' is made more infectious when sporting heroes are used to
transmit the ‘disease’ - a notable example being Planet Ark, an Australian not-for-profit
environmental group, set up by retired Wimbledon tennis champion Pat Cash.
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3. Transformational Points

1) bt B2 ¥ 22 & Y &2 A27 (k)

The universal appeal of sports, together with its inherent link to health and well-being,
Dmake it the ideal transmitter of messages about the environment. We are already
accustomed to @'hearing’ messages about national pride and fair play through sport.
Sport, and in particular the sporting event industry, now represents the front line for
sustainable development campaigns. Environmental sustainability is not only making
sporting events more marketable, but it is @attracting the kind of corporate sponsors
@who are keen to use public approval to enhance corporate reputation. The
environmental 'virus' is made more infectious when sporting heroes are used to transmit
the ‘disease’ - a notable example ®being Planet Ark, an Australian not-for-profit
environmental group, set up by retired Wimbledon tennis champion Pat Cash.

) thg 229 B2 I B2 & =YY E2To AY0| HES K| 2 A27? (kk k)

The universal appeal of sports, together with its inherent link to health and well-being,
makes it the ideal transmitter of messages about the environment. We are already
accustomed to ‘hearing’ messages about national @pride and fair play through sport.
Sport, and in particular the sporting event industry, now represents the front line for @
sustainable development campaigns. Environmental sustainability is not only making
sporting events more @marketable, but it is attracting the kind of corporate sponsors
who are keen to use public approval to enhance corporate reputation. The
environmental ‘virus' is made more ®perishable when sporting heroes are used to
transmit the 'disease’ - a notable example being Planet Ark, an Australian not-for-profit
environmental group, set up by retired Wimbledon tennis champion Pat Cash.
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6. tt= =2 FM= 718 HEe A27?

Within the societal cultures of the United States, subcultural differences once ignored by
many managers now command significant attention and sensitivity. Historically, the U. S.
workforce has consisted primarily of white males. Today, however, white males make up
far less than 50 percent of business new hires in the United States, whereas women
and African American, Hispanic, and Asian men account for increasingly large portions
of the U. S. workforce. Moreover, in the last ten years the number of women and
minorities assuming managerial positions in the U. S. workforce has grown by over 25
percent. It is becoming - and will continue to become - even more important for
managers to know about and be ready to respond to the challenges deriving from
individual differences in abilities, personalities, and motives. Knowledge about the
workplace consequences of these differences can provide managers with help in this
regard.

® growing awareness of diversity in the U. S. workforce

1. Semantic Key Sentence & Structure:
(1) Within the societal cultures of the United States, subcultural differences once ignored
by many managers now command significant attention and sensitivity. O|=2| Atz| 23}
LHOIIA o= B2 B SXS00| o3 FAIFE SteIE2tel XH0|50| X532 2 et Hy
HE 75l ALE (FEH FHE)

(2) Historically, the U. S. workforce has consisted primarily of white males. JAtM S Z O]
=9 =2 FE WOl HHYSE FHE0f ALk (A AMY)

(3) Today, however, white males make up far less than 50 percent of business new
hires in the United States, whereas women and African American, Hispanic, and Asian
men account for increasingly large portions of the U. S. workforce. }X|2t Q= HHQl
HMELS 0129 7|Y AFDEO|A 50%LLCH BN e HI8S XXt QU= HHHo,
dat 501, s|Amfy, OfAloF A Ze| 3-S50l Ol=2 =3 A 2 HIESS AXSta U
Ct. (BFEOf 2fsh HIHe| AtY)

(4) Moreover, in. the last ten years the number of women and minorities assuming

2

3

managerial positions in the U. S. workforce has grown by over 25 percent. AC}7} O=
o =320 H2[ES B UAs o 20UFo| AF K|H 10E0| ZXN 25%7t

X S7Mi 2Lt (ZE[HOME =58l el O[FEE HEQ)

2. Grammatical Key Sentence:

(1) 0 S0 £A0{T7t ZH 20 YL Mol $9| Y|

Moreover, in. the last ten years the number(F0{) of women and minorities assuming
managerial positions in the U. S. workforce has grown(ZAl) by over 25 percent.

(2) 2L A Alo| £59| 0|2 HMLIXT S5O HES XU SALT

@ consist of : ~2 O|F0{X|C}, ~2 FTA|C}

@ derive from: ~2EE L} E|Ct
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3. Transformational Points

1) (A), (B) HIZt0l S0 B2 7ty HES AS DEAL. (k%)

Within the societal cultures of the United States, subcultural differences once ignored by
many managers now command significant attention and sensitivity. Historically, the U. S.
workforce has consisted primarily of white males. Today, __(A)__, white males make up
far less than 50 percent of business new hires in the United States, whereas women
and African American, Hispanic, and Asian men account for increasingly large portions
of the U. S. workforce. __(B)__, in the last ten years the number of women and
minorities assuming managerial positions in the U. S. workforce has grown by over 25
percent. It is becoming - and will continue to become - even more important for
managers to know about and be ready to respond to the challenges deriving from
individual differences in abilities, personalities, and motives. Knowledge about the
workplace consequences of these differences can provide managers with help in this

regard.
(A) (B)
@ however Moreover
@ however Otherwise
® nevertheless Instead
@ similarly For example
® similarly Consequently

(2) (A), (B), (C) 2= QoM OO H= HIS LEAL. (kk k%)

Within the societal cultures of the United States, subcultural differences once (A)(ignored
/ were ignored) by many managers now command significant attention and sensitivity.
Historically, the U. S. workforce has consisted primarily of white males. Today, however,
white males make up far less than 50 percent of business new hires in the United
States, whereas women and African American, Hispanic, and Asian men account for
increasingly large portions of the U. S. workforce. Moreover, in the last ten years the
number of women and minorities assuming managerial positions in the U. S. workforce
(B)(has / have) grown by over 25 percent. It is becoming - and will continue to become
- even more important for managers to know about and be ready to respond to the
challenges (C)(derived / deriving) from individual differences in abilities, personalities,
and motives. Knowledge about the workplace consequences of these differences can
provide managers with help in this regard.

(A) (B) ©
@ ignored has derived
@ ignored have derived
® ignored has deriving
@ were ignored have deriving
® were ignored has deriving
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7. 0E 22 FHM=Z 7Y HES A27?
Suppose you wish to determine which brand of microwave popcorn leaves the fewest
unpopped kernels. You will need a supply of various brands of microwave popcorn to
test, and you will need a microwave oven. If you used different brands of microwave
ovens with different brands of popcorn, the percentage of unpopped kernels could be
caused by the different brands of popcorn or by the different brands of ovens. Under
such circumstances, the experimenter would be unable to conclude confidently whether
the popcorn or the oven caused the difference. To eliminate this problem, you must
use the same microwave oven for every test. In order to reasonably conclude that the
change in one variable was caused by the change in another specific variable, there
must be no other variables in the experiment. By using the same microwave oven, you
control the number of variables in the experiment.

* kernel &<t

@ need for controlling variables in experiments

1. Semantic Key Sentence & Structure:

(1) Suppose you wish to determine which brand of microwave popcorn leaves the
fewest unpopped kernels. E410] O{H H# EO| MX}2CIX|E 0| 7IE M2 FA X|X|
B2 €d0|E H7|=715 Z7EotnA oL 7PESHAL (OAlS] = 8))

(2) If you used different brands of microwave ovens with different brands of popcorn,
the percentage of unpopped kernels could be caused by the different brands of
popcorn or by the different brands of ovens. ZteF EHAIO| MZ CHE HHMEO| HES1t
Mz CHE BEdEol HAQAXE AFESCHEH, AO[7F FAXX] e A2 EHIZ0| 2l
AdY e AL, Z2 TR AR Of o3 LdS == ALk (GIAl o X 2fA)

(3) To eliminate this problem, you must use the same microwave oven for every test. Of
2 EME A7l floiM G2 ZE 20 Z22 TAAXRIZE AESHOF SOk (Al &
of sz

(4) In order to reasonably conclude that the change in one variable was caused by the
change in another specific variable, there must be no other variables in the experiment.
StLte| EH0iAfel Halrt CHE £ B0 Q] Hstof o3 YLD =2z ZE
= Wel7l flisi=s 2o thE #4350 EXiME & o (R0 2deE HAEES &
8l A2 4= Q= General Statement => HIZIEZ209| Point)

(5 By using the same microwave oven, you control the number of variables in the
experiment. £Z2 HAY AKX E AL ZM, M2 HdHU M HES9| AE SHEY
= AL (KfAl2] ZES| MTE => HZHEEQ| Point)

2. Grammatical Key Sentence: 7PH%® 1t7{ => JPHHHo| sl ZTA™D FHEO| AlX o
SOICH =HE| A[M7F 2tAHOIE, FHO| AME <=SAtL HAY + SARE>)

If you used different brands of microwave ovens with different brands of popcorn, the
percentage of unpopped kernels could be caused by the different brands of popcorn or

by the different brands of ovens.
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3. Transformational Points

(1) thg 29 20 02 22 7Y HESH A27 (Gekk k)

Suppose you wish to determine which brand of microwave popcorn leaves the fewest
unpopped kernels. You will need a supply of various brands of microwave popcorn to
test, and you will need a microwave oven. If you used different brands of microwave
ovens with different brands of popcorn, the percentage of unpopped kernels could be
caused by the different brands of popcorn or by the different brands of ovens. Under
such circumstances, the experimenter would be unable to conclude confidently whether
the popcorn or the oven caused the difference. To eliminate this problem, you must
use the same microwave oven for every test. In order to reasonably conclude that the
change in one variable was caused by the change in another specific variable,
. By using the same microwave oven, you control the number of

variables in the experiment.
* kernel £
@ experimenters must gather and obtain empirical evidences
@ the same experiment could be repeated and replicated by other researchers
® there must be no other variables in the experiment
@ various control groups must be set up by experimenters
® immediate and visible variables have to be given throughout the whole procedure

() CHg FOIT 2%0| S01Z 222 J1Y ME 227 (kK #)

To eliminate this problem, you must use the same microwave oven for every test.

Suppose you wish to determine which brand of microwave popcorn leaves the fewest
unpopped kernels. (D) You will need a supply of various brands of microwave popcorn
to test, and you will need a microwave oven. (@) If you used different brands of
microwave ovens with different brands of popcorn, the percentage of unpopped kernels
could be caused by the different brands of popcorn or by the different brands of
ovens. (®) Under such circumstances, the experimenter would be unable to conclude
confidently whether the popcorn or the oven caused the difference. (@) In order to
reasonably conclude that the change in one variable was caused by the change in
another specific variable, there must be no other variables in the experiment. (®) By
using the same microwave oven, you control the number of variables in the experiment.

* kernel &
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8. Ct= =2 FM= 718 HEe A27?

If we are planning on reducing congestion on a busy roadway, the best possible thing
to do is to simply widen the road. Surprisingly, though, the more one widens the road,
the more congested the road becomes. This is because wider roads reduce barriers to
driving. This, in turn, increases the demand for cars. Increased demand for cars tends to

increase competition among carmakers and drive down prices, leading to still more cars
on the road. Without regulations, carmakers are unlikely to invest in reducing emissions,
even if their profits rise and technology advances. Wider roads and cheaper cars also
allow people to move to cheaper places farther from major downtown economic areas.
This increases driving time and puts more cars on the road still. People become more
and more dependent on the car until it is strange not to own one. So, more
infrastructure still is devoted to the car and more cars end up on the road.

* congest GX|A|7|Ct

(3 adverse effects of widening roads to reduce congestion

1. Semantic Key Sentence & Structure:

s => HE 8 FHTs => ZAH(QuttA e A=H)

(1) If we are planning on reducing congestion on a busy roadway, the best possible
thing to do is to simply widen the road. 2teF 2|7} HESH T20A Q] WEZEE EO0|
A A=Stn QJATHH, Jhset KMo HME2 Haed| 25 Hols Ao (SE/A D)

(2) Surprisingly, though, the more one widens the road, the more congested the road
becomes. StX|Zt =@AE 228 Ho|H He4F, 2= O 286 Tch B2 R FH)

(3) MBS Y= HHYS => 220 S HD

E|Z=1Ql: wider roads reduce barriers to driving. (510{% =271 2™Z2 &H diE)
X|ZZ1E more cars end up on the road. (2= T 20| X7t G BOA)

2. Grammatical Key Sentence:
HX|AL to2 A 2= tol] FEE => TX|AL tox AHLEO| O|D|F X|HICH

O 50 "&a I sk She went to Seoul”, "$tA| Sl X3k From nine to five ~"Q} &
2 FX|AF to 2¢Ol 20|t AYE St= AI2|E = QISHAL

(1) This is because wider roads reduce barriers to driving. (~2 7t=0H UM ZOH=)

(2) Increased demand for cars tends to increase competition among carmakers and drive
down prices, leading to still more cars on the road. (~2 O|Z&L})

(3) Wider roads and cheaper cars also allow people to move to cheaper places farther
from major downtown economic areas. (~2 O|FS}L})

(4) So, more infrastructure still is devoted to the car and more cars end up on the
road. (~0f BFX|C}, SALISIL)

=> MX|A to CHS0ll= HAMCHBAIS M Z/SHALZL 2tof

£
a

3. Transformational Points: N / S
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